



MEMO

To: The Honorable Mike DeWine, Governor, State of Ohio
 The Honorable Adam Bird, Chair, Ohio Retirement Study Council
 The Honorable Bob Peterson, Chair, House Public Insurance and Pensions Committee
 The Honorable Kristina Roegner, Chair, Senate General Government Committee
 Ms. Bethany Rhodes, Director and General Counsel, Ohio Retirement Study Council

From: Karen Carraher, Executive Director
 Ohio Public Employees Retirement System

Date: March 1, 2026

Re: 2025 – 2026 Disability Report pursuant to ORC Section 145.351

The following is a summary of the 2025-2026 Ohio Public Employees Retirement System Disability Activity Report as required by Section 145.351 of the Ohio Revised Code. Attached is a detailed disability experience report for each employer.

Disability Summary Year 2025 (Submitted to ORSC 03/01/2026)

Employer Group/ Classification Type	2025 Start (In Process)	2025 Submitted	2025 Granted	2025 Denied	2025 Canceled	2025 End (In Process)	Percent of Disability Recipients to Active Members
State	27	230	99	20	90	48	5.94%
Local	70	337	189	47	110	61	4.23%
Law/Public Safety	3	33	19	7	6	4	18.09%
Total	100	600	307	74	206	113	5.18%

Experience Versus Annual Actuarial Assumption

Employer Group/ Classification Type	2025 Percent Granted to Active Members (actual %)	2025 Granted to Active Members (actual #)	Most Recent Annual Actuarial Disability Assumption (as %/actual #)
State	0.10%	99	0.22% (238)
Local	0.10%	189	0.19% (336)
Law/Public Safety	0.23%	19	0.57% (46)
Total	0.10%	307	0.21% (620)

Common Disabilities

Condition <i>(recipient may have multiple conditions)</i>	2021	2022	2023	2024	2025	5-Year Total	Percent
Psychiatric	99 (19%)	153 (18%)	121 (17%)	113 (18%)	72 (14%)	558	17%
Neurological	59 (11%)	109 (12%)	91 (13%)	63 (10%)	66 (12%)	388	12%
Musculoskeletal (including orthopedic)	149 (28%)	300 (35%)	260 (36%)	216 (34%)	216 (41%)	1,141	35%
Oncologic	66 (13%)	82 (10%)	87 (12%)	87 (14%)	57 (11%)	379	12%
Cardiovascular	75 (14%)	101 (12%)	66 (9%)	72 (11%)	61 (11%)	375	11%
Other*	81 (15%)	116 (13%)	91 (13%)	80 (13%)	61 (11%)	429	13%
Total	529	861	716	631	533	3,270	100%

* Other includes pulmonary, gastrointestinal, eye, ear, nose, and throat, endocrine, renal, hematologic, infectious disease, and sleep disorders.

5-Year Summary of Percent Granted to Active Members (%/actual #)

Employer Group/ Classification		2021		2022		2023		2024		2025		5-Year Average	
		%	actual #	%	actual #								
Non-Law	State	0.16%	156	0.21%	209	0.18%	181	0.14%	141	0.10%	99	0.14%	403
	Local	0.13%	246	0.18%	342	0.14%	248	0.10%	203	0.10%	189		
Law/Public Safety		0.39%	32	0.53%	43	0.32%	24	0.24%	20	0.23%	19	0.35%	28



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	ADJUTANT GENERAL	266	2	1	0	0	2	28	0.38%	10.53%
STATE	ALLEN/OAKWOOD CORRECTIONAL INSTITUTE	429	1	0	0	1	0	21	0.00%	4.90%
STATE	APPALACHIAN BEHAVIORAL HEALTHCARE	207	2	1	0	0	1	60	0.48%	28.99%
STATE	ATTORNEY GENERAL	1,548	2	1	0	1	1	57	0.06%	3.68%
STATE	AUDITOR OF STATE	788	1	1	0	0	0	40	0.13%	5.08%
STATE	BOWLING GREEN STATE UNIVERSITY	2,612	1	0	0	1	0	79	0.00%	3.02%
STATE	CAMBRIDGE DEVELOPMENTAL CENTER	125	1	1	0	0	0	44	0.80%	35.20%
STATE	CENTRAL OHIO BEHAVIORAL HEALTH	525	1	1	0	0	0	107	0.19%	20.38%
STATE	CHILLICOTHE CORRECTIONAL INSTITUTE	461	7	2	1	2	2	129	0.43%	27.98%
STATE	CIRCLEVILLE JUVENILE CORRECTIONAL	228	1	1	0	0	0	41	0.44%	17.98%
STATE	CLEVELAND STATE UNIVERSITY	1,573	2	1	0	2	0	22	0.06%	1.40%
STATE	COMMERCE DEPT	988	3	0	1	3	0	67	0.00%	6.78%
STATE	CORRECTIONAL RECEPTION CENTER	469	4	0	0	3	1	69	0.00%	14.71%
STATE	CORRECTIONS MEDICAL CENTER	473	6	4	0	2	0	53	0.85%	11.21%
STATE	DAYTON CORRECTIONAL INSTITUTION	219	1	0	0	1	0	27	0.00%	12.33%
STATE	DEPARTMENT OF CHILDREN AND YOUTH	610	2	1	0	2	0	0	0.16%	0.00%
STATE	DEPARTMENT OF VETERANS SERVICES	613	2	1	0	1	0	39	0.16%	6.36%
STATE	DEPT OF ADMINISTRATIVE SERVICES	722	2	2	0	1	1	68	0.28%	9.42%
STATE	DEPT OF DEVELOPMENTAL DISABILITIES	372	2	0	0	0	2	13	0.00%	3.49%
STATE	DEPT OF EDUCATION	422	1	0	0	1	0	8	0.00%	1.90%
STATE	DEPT OF TRANSPORTATION	5,209	18	7	4	5	3	562	0.13%	10.79%
STATE	ENVIRONMENTAL PROTECTION AGENCY	993	2	1	0	1	0	33	0.10%	3.32%
STATE	EXPOSITIONS COMMISSION	52	1	0	0	1	0	3	0.00%	5.77%
STATE	GALLIPOLIS DEVELOPMENTAL CENTER	253	5	2	0	3	1	63	0.79%	24.90%
STATE	GRAFTON CORRECTIONAL INSTITUTION	374	2	0	0	1	1	28	0.00%	7.49%
STATE	HEALTH DEPT	1,140	4	3	0	0	1	62	0.26%	5.44%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	HEARTLAND BEHAVIORAL HEALTHCARE	256	1	0	0	1	0	16	0.00%	6.25%
STATE	INDIAN RIVER BOYS SCHOOL	225	5	1	0	3	2	21	0.44%	9.33%
STATE	JOB AND FAMILY SERVICES	1,681	10	5	2	2	1	235	0.30%	13.98%
STATE	KENT STATE UNIVERSITY	3,414	2	1	0	1	1	102	0.03%	2.99%
STATE	LEBANON CORRECTIONAL INSTITUTE	416	2	0	0	1	1	66	0.00%	15.87%
STATE	LONDON CORRECTIONAL INSTITUTE	356	2	0	0	1	1	42	0.00%	11.80%
STATE	LORAIN CORRECTIONAL INSTITUTION	391	3	1	0	1	1	29	0.26%	7.42%
STATE	MADISON CORRECTIONAL FACILITY	483	1	0	0	1	0	45	0.00%	9.32%
STATE	MANSFIELD CORRECTIONAL INSTITUTE	524	2	3	0	1	0	66	0.57%	12.60%
STATE	MARION CORRECTIONAL INSTITUTE	388	2	2	0	0	0	36	0.52%	9.28%
STATE	MEDICAID	724	3	0	0	2	1	3	0.00%	0.41%
STATE	MENTAL HEALTH SUPPORT SERVICES	628	4	0	3	2	1	35	0.00%	5.57%
STATE	MIAMI UNIVERSITY	3,214	4	4	0	0	1	111	0.12%	3.45%
STATE	MOUNT VERNON DEVELOPMENTAL CENTER	170	0	0	0	1	0	42	0.00%	24.71%
STATE	NATURAL RESOURCES ADMINISTRATION	1,827	9	4	3	2	0	113	0.22%	6.19%
STATE	NOBLE CORRECTIONAL INSTITUTE	383	1	0	0	1	0	32	0.00%	8.36%
STATE	NORTHCOAST BEHAVIORAL HEALTHCARE SYS	473	1	0	0	1	0	104	0.00%	21.99%
STATE	NORTHEAST REINTEGRATION CENTER	157	2	1	0	0	1	12	0.64%	7.64%
STATE	OHIO BLIND SCHOOL	162	1	0	0	0	1	7	0.00%	4.32%
STATE	OHIO LOTTERY COMMISSION	366	2	2	0	0	0	10	0.55%	2.73%
STATE	OHIO PUBLIC DEFENDER COMMISSION	202	1	0	0	1	0	5	0.00%	2.48%
STATE	OHIO STATE PENITENTIARY	312	2	0	0	1	1	44	0.00%	14.10%
STATE	OHIO PUBLIC DEFENDER COMMISSION	202	1	0	0	1	0	5	0.00%	2.48%
STATE	OHIO STATE PENITENTIARY	312	2	0	0	1	1	44	0.00%	14.10%
STATE	OHIO STATE UNIVERSITY	27,272	21	10	2	7	5	532	0.04%	1.95%
STATE	OHIO TURNPIKE AND INFRASTRUCTURE COMM	638	3	0	2	1	0	44	0.00%	6.90%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	OHIO UNIVERSITY	4,986	3	1	0	2	0	143	0.02%	2.87%
STATE	OHIO WOMEN'S REFORMATORY	433	5	3	0	2	0	52	0.69%	12.01%
STATE	OPPORTUNITIES FOR OHIOANS WITH DISABIL	1,322	3	3	0	1	0	93	0.23%	7.03%
STATE	PAROLE AND COMMUNITY SERVICES	877	2	1	0	1	1	79	0.11%	9.01%
STATE	PICKAWAY CORRECTIONAL INSTITUTE	403	1	0	0	0	1	63	0.00%	15.63%
STATE	PUBLIC SAFETY ADMINISTRATION	2,135	4	2	0	1	1	151	0.09%	7.07%
STATE	PUBLIC UTILITIES COMMISSION	339	3	0	0	2	1	17	0.00%	5.01%
STATE	REGULATORY AND LICENSING BOARDS	242	2	1	1	0	0	11	0.41%	4.55%
STATE	REHABILITATION AND CORRECTION	569	3	1	0	0	2	67	0.18%	11.78%
STATE	ROSS CORRECTIONAL INSTITUTION	473	7	3	0	4	0	100	0.63%	21.14%
STATE	SOUTHEASTERN CORRECTIONAL INSTITUTION	314	2	2	0	0	0	75	0.64%	23.89%
STATE	SOUTHERN OHIO CORRECTIONAL FACILITY	616	4	2	0	2	1	181	0.32%	29.38%
STATE	STARK STATE COLLEGE	267	0	1	0	0	0	3	0.37%	1.12%
STATE	SUMMIT BEHAVIORAL HEALTH CARE	430	2	0	0	2	0	28	0.00%	6.51%
STATE	SUPREME COURT	1,208	1	1	0	0	0	16	0.08%	1.32%
STATE	TIFFIN DEVELOPMENTAL CENTER	200	1	1	0	0	0	27	0.50%	13.50%
STATE	TOLEDO CORRECTIONAL INSTITUTION	421	4	1	0	1	2	20	0.24%	4.75%
STATE	TRUMBULL CORRECTIONAL INSTITUTION	328	1	1	0	0	0	40	0.30%	12.20%
STATE	UNIVERSITY OF CINCINNATI	5,890	1	0	0	0	1	109	0.00%	1.85%
STATE	UNIVERSITY OF TOLEDO	3,971	4	2	0	4	0	161	0.05%	4.05%
STATE	WARREN CORRECTIONAL INSTITUTION	351	4	4	0	0	0	85	1.14%	24.22%
STATE	WARRENSVILLE DEVELOPMENTAL CENTER	298	3	1	0	1	1	58	0.34%	19.46%
STATE	WORKER'S COMPENSATION BUREAU	1,513	5	1	1	3	1	140	0.07%	9.25%
STATE	WRIGHT STATE UNIVERSITY	996	2	2	0	0	0	55	0.20%	5.52%
STATE	YOUNGSTOWN STATE UNIVERSITY	1,096	2	0	0	1	1	15	0.00%	1.37%
STATE	YOUTH SERVICES-CENTRAL OFFICE	206	1	0	0	0	1	35	0.00%	16.99%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	ADAMS COUNTY	333	1	1	0	0	0	12	0.30%	3.60%
LOCAL	AKRON SUMMIT CO PUBLIC LIBRARY	372	1	1	0	0	0	10	0.27%	2.69%
LOCAL	ALLEN COUNTY	819	2	0	1	0	1	29	0.00%	3.54%
LOCAL	ASHLAND COUNTY	350	1	0	0	0	1	5	0.00%	1.43%
LOCAL	ASHTABULA COUNTY	718	1	0	0	1	0	34	0.00%	4.74%
LOCAL	ATHENS COUNTY	542	2	2	0	0	0	28	0.37%	5.17%
LOCAL	BEAVER UNION CEMETERY	5	1	1	0	0	0	0	20.00%	0.00%
LOCAL	BELMONT COUNTY	664	1	1	0	0	0	28	0.15%	4.22%
LOCAL	BOARDMAN TWP	59	2	1	0	0	1	3	1.69%	5.08%
LOCAL	BUTLER COUNTY	1,653	5	4	0	0	1	82	0.24%	4.96%
LOCAL	BUTLER COUNTY REGIONAL TRANSIT AUTH	126	1	1	0	0	0	0	0.79%	0.00%
LOCAL	CENTRAL JOINT FIRE-EMS DISTRICT	1	1	1	0	0	0	1	100.00%	100.00%
LOCAL	CENTRAL OHIO TRANSIT AUTHORITY	1,244	1	1	0	0	1	85	0.08%	6.83%
LOCAL	CINCINNATI METROPOLITAN HOUSING AUTH	176	0	1	0	0	0	19	0.57%	10.80%
LOCAL	CITY OF AKRON	1,407	3	2	0	0	1	142	0.14%	10.09%
LOCAL	CITY OF ASHLAND	176	1	1	0	0	0	2	0.57%	1.14%
LOCAL	CITY OF BEREA	188	1	1	0	1	0	6	0.53%	3.19%
LOCAL	CITY OF BLUE ASH	307	1	0	0	0	1	2	0.00%	0.65%
LOCAL	CITY OF BROOKLYN	147	2	1	0	1	0	6	0.68%	4.08%
LOCAL	CITY OF BRUNSWICK	116	0	0	0	1	0	3	0.00%	2.59%
LOCAL	CITY OF CANAL WINCHESTER	47	1	1	0	0	0	3	2.13%	6.38%
LOCAL	CITY OF CHILLICOTHE	194	1	0	1	0	0	12	0.00%	6.19%
LOCAL	CITY OF CLEVELAND	5,152	22	9	3	9	5	428	0.17%	8.31%
LOCAL	CITY OF COLUMBUS	6,368	11	7	2	3	3	339	0.11%	5.32%
LOCAL	CITY OF DAYTON	1,224	2	2	0	0	0	253	0.16%	20.67%
LOCAL	CITY OF EATON	95	1	0	1	0	0	2	0.00%	2.11%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CITY OF ELYRIA	406	2	1	0	1	0	11	0.25%	2.71%
LOCAL	CITY OF FAIRVIEW PARK	145	1	1	0	0	0	7	0.69%	4.83%
LOCAL	CITY OF GALION	68	0	1	0	0	0	5	1.47%	7.35%
LOCAL	CITY OF GARFIELD HEIGHTS	176	1	0	1	0	0	7	0.00%	3.98%
LOCAL	CITY OF GREEN	115	0	1	0	0	0	3	0.87%	2.61%
LOCAL	CITY OF HUBER HEIGHTS	181	1	1	0	0	0	9	0.55%	4.97%
LOCAL	CITY OF HUDSON	243	2	2	0	0	0	10	0.82%	4.12%
LOCAL	CITY OF INDEPENDENCE	254	1	0	0	2	0	8	0.00%	3.15%
LOCAL	CITY OF JACKSON	80	0	0	0	1	0	11	0.00%	13.75%
LOCAL	CITY OF KENT	160	1	1	0	0	0	7	0.63%	4.38%
LOCAL	CITY OF KETTERING	592	1	0	0	1	0	19	0.00%	3.21%
LOCAL	CITY OF LANCASTER	333	1	1	0	0	1	12	0.30%	3.60%
LOCAL	CITY OF LEBANON	125	1	1	0	0	0	8	0.80%	6.40%
LOCAL	CITY OF LONDON	47	2	2	0	0	0	6	4.26%	12.77%
LOCAL	CITY OF LORAIN	357	1	1	0	0	0	27	0.28%	7.56%
LOCAL	CITY OF MANSFIELD	275	1	1	1	0	0	8	0.36%	2.91%
LOCAL	CITY OF MARION	246	1	1	0	0	0	11	0.41%	4.47%
LOCAL	CITY OF MAUMEE	130	1	1	0	0	0	7	0.77%	5.38%
LOCAL	CITY OF MORAINE	87	2	1	0	1	0	9	1.15%	10.34%
LOCAL	CITY OF NAPOLEON	119	1	1	0	0	0	5	0.84%	4.20%
LOCAL	CITY OF NEW CARLISLE	23	1	0	0	0	1	1	0.00%	4.35%
LOCAL	CITY OF NEWARK	212	0	1	0	0	0	13	0.47%	6.13%
LOCAL	CITY OF OAKWOOD	75	1	1	0	0	0	4	1.33%	5.33%
LOCAL	CITY OF PICKERINGTON	78	1	1	0	0	0	5	1.28%	6.41%
LOCAL	CITY OF PORT CLINTON	47	1	1	0	0	0	3	2.13%	6.38%
LOCAL	CITY OF RIVERSIDE	31	1	1	1	1	0	4	3.23%	12.90%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CITY OF SHAKER HEIGHTS	351	2	1	0	1	0	18	0.28%	5.13%
LOCAL	CITY OF SIDNEY	164	0	1	0	0	0	8	0.61%	4.88%
LOCAL	CITY OF SOUTH EUCLID	106	1	1	0	0	0	6	0.94%	5.66%
LOCAL	CITY OF SPRINGFIELD	345	1	2	0	1	0	27	0.58%	7.83%
LOCAL	CITY OF STRONGSVILLE	320	3	1	1	0	1	12	0.31%	3.75%
LOCAL	CITY OF TOLEDO	1,549	5	1	0	3	1	116	0.06%	7.49%
LOCAL	CITY OF WADSWORTH	227	1	1	0	0	0	18	0.44%	7.93%
LOCAL	CITY OF WARREN	260	0	0	1	0	0	35	0.00%	13.46%
LOCAL	CITY OF WARRENSVILLE HEIGHTS	90	1	1	0	0	0	6	1.11%	6.67%
LOCAL	CITY OF WELLSTON	53	1	1	0	1	0	5	1.89%	9.43%
LOCAL	CITY OF WHITEHALL	187	0	1	0	0	0	4	0.53%	2.14%
LOCAL	CITY OF WILLOUGHBY	206	1	1	0	0	0	11	0.49%	5.34%
LOCAL	CITY OF XENIA	150	0	0	1	0	0	5	0.00%	3.33%
LOCAL	CITY OF YOUNGSTOWN	494	3	1	0	2	0	34	0.20%	6.88%
LOCAL	CITY OF ZANESVILLE	254	2	2	0	0	0	14	0.79%	5.51%
LOCAL	CLARK COUNTY	979	2	0	1	1	1	64	0.00%	6.54%
LOCAL	CLERMONT COUNTY	1,188	2	1	0	2	0	77	0.08%	6.48%
LOCAL	CLEVELAND METRO PARKS SYSTEMS	1,330	3	1	0	2	0	10	0.08%	0.75%
LOCAL	CLEVELAND PUBLIC LIBRARY	705	1	1	0	1	0	16	0.14%	2.27%
LOCAL	CLINTON COUNTY PORT AUTHORITY	8	1	0	0	1	0	0	0.00%	0.00%
LOCAL	COLUMBIANA COUNTY	465	1	0	0	0	1	23	0.00%	4.95%
LOCAL	COLUMBUS REGIONAL AIRPORT AUTHORITY	362	1	0	0	1	0	16	0.00%	4.42%
LOCAL	CORRECTIONS COMMISSION OF NORTHWEST OH	141	1	0	0	0	1	5	0.00%	3.55%
LOCAL	COSHOCTON COUNTY	390	1	1	0	0	0	6	0.26%	1.54%
LOCAL	CRAWFORD COUNTY	328	1	1	0	0	0	8	0.30%	2.44%
LOCAL	CUYAHOGA COUNTY	7,541	12	11	2	4	1	421	0.15%	5.58%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CUYAHOGA COUNTY COMMUNITY COLLEGE	1,200	0	0	1	0	0	21	0.00%	1.75%
LOCAL	CUYAHOGA METROPOLITAN HOUSING AUTH	570	6	0	0	6	0	68	0.00%	11.93%
LOCAL	DARKE COUNTY	318	1	1	0	0	0	4	0.31%	1.26%
LOCAL	DAYTON METRO LIBRARY	346	2	1	0	0	1	11	0.29%	3.18%
LOCAL	DELAWARE COUNTY	1,204	2	0	1	1	0	22	0.00%	1.83%
LOCAL	ERIE COUNTY	812	2	2	0	0	0	31	0.25%	3.82%
LOCAL	EUCLID PUBLIC LIBRARY	56	1	0	0	1	0	1	0.00%	1.79%
LOCAL	FRANKLIN COUNTY	6,322	19	6	2	11	4	241	0.09%	3.81%
LOCAL	GALLIA COUNTY	377	1	0	1	0	0	14	0.00%	3.71%
LOCAL	GREATER CLEVELAND REGIONAL TRANSIT	2,116	7	2	1	2	2	255	0.09%	12.05%
LOCAL	GREATER DAYTON REGIONAL TRANSIT AUTH	546	5	1	1	4	0	118	0.18%	21.61%
LOCAL	GREENE COUNTY	916	3	2	0	1	0	40	0.22%	4.37%
LOCAL	GUERNSEY COUNTY	364	1	0	0	1	0	13	0.00%	3.57%
LOCAL	HAMILTON CO PUBLIC LIBRARY	892	1	1	0	0	0	14	0.11%	1.57%
LOCAL	HAMILTON COUNTY	4,180	5	3	0	1	2	224	0.07%	5.36%
LOCAL	HENRY COUNTY	285	1	0	0	1	1	11	0.00%	3.86%
LOCAL	HOCKING COUNTY	272	2	0	1	0	1	10	0.00%	3.68%
LOCAL	HOCKING VALLEY COMMUNITY HOSPITAL	341	1	1	0	0	0	11	0.29%	3.23%
LOCAL	JACKSON COUNTY	310	1	1	0	0	0	15	0.32%	4.84%
LOCAL	JEFFERSON TWP	12	0	0	0	1	0	1	0.00%	8.33%
LOCAL	LAKE COUNTY	1,492	2	1	1	0	0	65	0.07%	4.36%
LOCAL	LAWRENCE COUNTY	429	2	2	1	0	0	33	0.47%	7.69%
LOCAL	LICKING COUNTY	1,015	2	0	0	1	1	35	0.00%	3.45%
LOCAL	LOGAN COUNTY	524	0	0	0	1	0	12	0.00%	2.29%
LOCAL	LORAIN COUNTY	1,832	6	0	1	3	2	78	0.00%	4.26%
LOCAL	LUCAS COUNTY	2,925	14	8	4	4	1	184	0.27%	6.29%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	LUCAS METROPOLITAN HOUSING AUTHORITY	165	1	0	0	1	0	2	0.00%	1.21%
LOCAL	MAHONING COUNTY	1,290	3	2	1	1	0	87	0.16%	6.74%
LOCAL	MAHONING VALLEY SANITARY DISTRICT	55	1	1	0	0	0	4	1.82%	7.27%
LOCAL	MARION COUNTY	543	0	1	0	0	0	21	0.18%	3.87%
LOCAL	MARVIN MEMORIAL LIBRARY	15	1	1	0	0	0	3	6.67%	20.00%
LOCAL	MEDINA COUNTY	1,158	2	2	0	0	0	38	0.17%	3.28%
LOCAL	METROHEALTH MEDICAL CENTER	8,708	19	6	2	7	5	179	0.07%	2.06%
LOCAL	MIAMI CONSERVANCY DISTRICT	53	1	1	0	0	0	4	1.89%	7.55%
LOCAL	MONTGOMERY COUNTY	3,823	13	8	2	4	2	356	0.21%	9.31%
LOCAL	MORGAN COUNTY	217	1	0	0	0	1	13	0.00%	5.99%
LOCAL	MUSKINGUM COUNTY	780	1	0	0	1	0	28	0.00%	3.59%
LOCAL	NORTHEAST OHIO REGIONAL SEWER DISTRICT	801	3	0	1	2	1	46	0.00%	5.74%
LOCAL	NORTHWEST FIRE AND AMBULANCE DISTRICT	2	0	1	0	0	0	0	50.00%	0.00%
LOCAL	NORTHWESTERN WATER AND SEWER DIST	81	2	1	1	0	0	2	1.23%	2.47%
LOCAL	OHIO PUBLIC EMPLOYEES RETIREMENT SYS	494	2	1	1	0	0	24	0.20%	4.86%
LOCAL	PAULDING COUNTY	180	1	0	0	1	0	6	0.00%	3.33%
LOCAL	PERRY COUNTY	426	5	1	0	3	1	12	0.23%	2.82%
LOCAL	PIERCE TWP	23	1	1	0	0	0	2	4.35%	8.70%
LOCAL	PIKE COUNTY	272	1	1	0	0	0	22	0.37%	8.09%
LOCAL	PORTAGE COUNTY	986	1	1	0	0	0	51	0.10%	5.17%
LOCAL	PORTAGE COUNTY DIST LIBRARY	148	1	1	0	0	0	1	0.68%	0.68%
LOCAL	PUTNAM COUNTY	394	1	1	0	0	0	7	0.25%	1.78%
LOCAL	QUAD AMBULANCE DISTRICT	27	1	0	1	0	0	0	0.00%	0.00%
LOCAL	ROSS COUNTY	607	4	0	1	2	1	35	0.00%	5.77%
LOCAL	SALT CREEK TWP	6	1	1	0	0	0	0	16.67%	0.00%
LOCAL	SANDY TWP	4	1	1	0	0	0	1	25.00%	25.00%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	SCHOOL EMPLOYEES RETIREMENT SYSTEM	185	1	0	0	1	0	4	0.00%	2.16%
LOCAL	SCIOTO COUNTY	618	0	0	1	0	0	48	0.00%	7.77%
LOCAL	SHELBY COUNTY	479	1	1	0	0	0	11	0.21%	2.30%
LOCAL	SOLID WASTE AUTHORITY OF CENTRAL OHIO	133	1	1	0	0	0	4	0.75%	3.01%
LOCAL	SOUTHWEST OHIO REGIONAL TRANSIT AUTH	1,204	1	4	0	0	0	151	0.33%	12.54%
LOCAL	SOUTHWEST PUBLIC LIBRARY	60	1	1	0	1	0	5	1.67%	8.33%
LOCAL	STANDING ROCK CEMETERY	11	1	0	0	0	1	0	0.00%	0.00%
LOCAL	STARK CO DISTRICT LIBRARY	174	1	0	0	0	1	3	0.00%	1.72%
LOCAL	STARK COUNTY	2,359	3	1	0	0	2	92	0.04%	3.90%
LOCAL	STATE TEACHERS RETIREMENT SYSTEM	475	2	2	0	0	0	11	0.42%	2.32%
LOCAL	STEEL VALLEY REGIONAL TRANSIT AUTH	20	0	1	0	0	0	2	5.00%	10.00%
LOCAL	SUMMIT COUNTY	2,885	9	6	1	2	1	193	0.21%	6.69%
LOCAL	TRUMBULL COUNTY	1,292	3	2	0	0	1	76	0.15%	5.88%
LOCAL	UNION COUNTY MEMORIAL HOSPITAL	953	1	0	0	0	1	8	0.00%	0.84%
LOCAL	UNION TWP	63	1	0	0	0	1	5	0.00%	7.94%
LOCAL	VIENNA TWP	23	0	1	0	0	0	1	4.35%	4.35%
LOCAL	VILLAGE OF DESHLER	29	1	1	0	0	0	1	3.45%	3.45%
LOCAL	VILLAGE OF ENON	19	1	1	0	0	0	1	5.26%	5.26%
LOCAL	VILLAGE OF NEW BOSTON	22	0	1	0	0	0	2	4.55%	9.09%
LOCAL	VILLAGE OF NEW KNOXVILLE	14	1	0	1	0	0	0	0.00%	0.00%
LOCAL	VILLAGE OF OAK HILL	21	1	1	0	0	0	1	4.76%	4.76%
LOCAL	VILLAGE OF RICHWOOD	16	1	0	1	0	0	1	0.00%	6.25%
LOCAL	VILLAGE OF STRATTON	20	1	0	0	1	0	0	0.00%	0.00%
LOCAL	VILLAGE OF WOODSFIELD	31	1	0	0	1	0	2	0.00%	6.45%
LOCAL	WARREN COUNTY	1,259	3	5	0	0	0	41	0.40%	3.26%
LOCAL	WASHINGTON COUNTY	531	2	0	1	0	1	20	0.00%	3.77%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	WASHINGTON TWP	234	1	1	0	0	0	3	0.43%	1.28%
LOCAL	WAYNE COUNTY	685	1	1	0	0	0	28	0.15%	4.09%
LOCAL	WOOSTER HOSPITAL	1,139	1	0	0	0	1	19	0.00%	1.67%
LOCAL	WYANDOT COUNTY	338	1	0	0	0	1	7	0.00%	2.07%
LOCAL	WYANDOT MEMORIAL HOSPITAL	415	1	0	0	0	1	7	0.00%	1.69%
LAW	ASHLAND COUNTY	43	1	1	0	0	0	4	2.33%	9.30%
LAW	ASHTABULA COUNTY	34	1	1	0	0	0	5	2.94%	14.71%
LAW	BUTLER COUNTY	140	1	1	0	0	0	27	0.71%	19.29%
LAW	BUTLER TWP	22	1	1	0	0	0	10	4.55%	45.45%
LAW	CLERMONT COUNTY	83	1	1	0	0	0	18	1.20%	21.69%
LAW	CLINTON COUNTY	25	1	0	0	1	0	5	0.00%	20.00%
LAW	COLUMBIANA COUNTY	27	2	1	0	0	1	2	3.70%	7.41%
LAW	FIVE RIVERS METROPARKS	28	1	0	1	0	0	9	0.00%	32.14%
LAW	FRANKLIN COUNTY	643	1	0	0	0	1	120	0.00%	18.66%
LAW	GEAUGA COUNTY	48	3	1	1	1	0	10	2.08%	20.83%
LAW	GERMAN TWP	7	1	1	0	0	0	2	14.29%	28.57%
LAW	GREAT PARKS OF HAMILTON COUNTY	27	1	0	1	0	0	3	0.00%	11.11%
LAW	GREATER CLEVELAND REGIONAL TRANSIT	96	1	1	0	0	0	11	1.04%	11.46%
LAW	HAMILTON COUNTY	335	1	1	0	0	0	105	0.30%	31.34%
LAW	HAMILTON TWP	25	1	1	0	0	0	1	4.00%	4.00%
LAW	HINCKLEY TWP	12	1	0	0	0	1	1	0.00%	8.33%
LAW	KENT STATE UNIVERSITY	21	1	0	1	0	0	4	0.00%	19.05%
LAW	LUCAS COUNTY	174	2	0	1	0	1	33	0.00%	18.97%
LAW	MADISON COUNTY	31	1	0	0	1	0	4	0.00%	12.90%
LAW	MAHONING COUNTY	153	1	1	0	0	0	76	0.65%	49.67%
LAW	MEIGS COUNTY	24	2	0	0	2	0	1	0.00%	4.17%



SUMMARY - 2025

Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LAW	NOBLE COUNTY	26	1	2	0	0	0	3	7.69%	11.54%
LAW	OHIO STATE UNIVERSITY	76	1	1	0	0	0	3	1.32%	3.95%
LAW	PUBLIC SAFETY ADMINISTRATION	85	0	1	0	0	0	14	1.18%	16.47%
LAW	STARK COUNTY	179	2	1	0	1	0	18	0.56%	10.06%
LAW	TRUMBULL COUNTY	49	1	0	1	0	0	9	0.00%	18.37%
LAW	UNION TWP	52	1	1	0	0	0	11	1.92%	21.15%
LAW	UNIVERSITY OF CINCINNATI	51	1	0	1	0	0	6	0.00%	11.76%
LAW	WEST CHESTER TWP	73	0	1	0	0	0	12	1.37%	16.44%